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113 | = = 0.6848 m
o
194 | (@ R=mlg—a) BGFIA) (b) R= m(gta) (A2A)
RZ
115 | g9 = ———=¢
O (R+1n)?
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116 | t== =95/
f g
4mg
117 | T= =2
3
118 | Ny = 147.15N, N = 254.88 N
119 | Ny = 1.095N, Nz = 3.008 N
120 | 7, =276.6 N, m = 19.998 kg
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21 |a= —1.667m/s’
22 | v=700m/s , s = 26.67 km
23 | v=05.648m/s, s =11.71m
24 | a=0.25s , 2o Ak
25 | v=y8s—400 (100 < s < 200m), T2 AY=F
- v:%tz (0<t<5s)
v=>5t—125 (G<t<t)
27 |v=11.18m/s, a= 0.25 m/s’
2(0.5) = 0.99 mm
28 | 2(0.5) = —1.217 mm/s
2(0.5) = —24.758 mm/s’
29 | v, = 8.292m/s
210 | p=tan '(1.987) = 63.285° , B =tan '(0.731) = 36.167°
2
211 | g = gcuosﬁ [sin2¢ — 2tanfcos’s |
212 | R=6.64m
213 | B=59.475°
214 | s =285.427m, t=11.98 s
215 | v = 32.237m/s
. (@) y = — 9'85tx2 = —0.19622”
' (b) v= 11.012m/s
(c) @, = 9.81sin(66.99° ) = 9.029 m/s* , @, = 9.81cos(66.99° ) = 3.835 m/s’
217 | a=3.856 m/s”
218 | »=116.30 mm/s , a = 5,931.77 mm/s
219 | v=5m/s, a=1.031 m/s*
220 |vg= —1m/s(1)
221 |vg= —0.67m/s(1)
222 | 6=17.07°
223 | vamp = —9.39 — 10.61j, a5 = — 1.7631 — 4.419]




[3% &2
HS =hds
31 | a, =1.168 m/s”
32 |a,=1.629m/s’
33 | N,=115.33N, ¢, = 2.12m/s’
34 |1=6.555s
35 |a, =2173m/s’, x=9.779m
3.6 Sy = 26.67 m
37 | t, = 43.30s, t, = 156.25s
38 |t =82.245
39 |a,=0833m/s* (|) T=4,4885N
310 | ¢, =180, G, = 1,200, C; = 12,000
311 | » =57.19m/s
312 | N, = 38N
313 | Wpay = 2.971rad/s
314 | v=31.32m/s
. (@) opin = 45.31m
(b) omin = 50.82m
316 | gy =0.029
317 | T=12.5N, 6 = 0.02 rad/s’
218 (a) @ = 3.366 rad/s
(b) 6= cos '(0.0895) =
10 (a) F, = 461.94N , F, = 353.55N
(b) = 6.937 m/s’
320 |y =84.289°, a=5m/s’




[4% B2
tHo =
(a) U, =150 N-m
4 (b) APr= —150 N'm
42 | U_,=143.133N'm
43 | vy =5.957m/s
44 | v, =77.46m/s
45 |'s=94.797m
4.6 v=3.069 m
47 d =8m
48 |s=1.133m
49 | v=5.148m/s
410 | v, = 1.987 m/s
411 | vy = 30.345m/s
412 | Poy = 143,125.76 W, (Poo )y = 71,562.88 W
413 | P= 74.997 kW
414 | P=14.067t MW, P, i, = 42.201 MW
415 | d = 142.89 m
416 | k=98.88 N/m
417 | v, = 7.004 m/s
418 | d=1.093 m
419 | k = 5.5567 x 10° N/m
420 | v=2.828m/s, T=23.62N




(5% ¢
tHo =
51 | (v,), =866m/s, N, =734.8N
52 | T=135.15N , g =0.903
53 |, =0.34
5.4 dezf = 57.296 N's
55 | (v, ), = 12.2m/s
56 |v,=6.21m/s, 6, = 14.88°
57 | (1), = 90m/s
58 | »=13.098m/s, 6 = 49.105°
59 |d=7.5265m
510 |z=1m — $%02 ol
511 | v/ = —1km/h — Q=4sF
5.12 :—(M;M) J2gh, v = 29k
. (vg ), = 1.5m/s, (vy), = 0.5m/s
AT=1.5]
514 | (vp)y, = —2m/s, e=0.5
515 | (0/¢)y = 1.125m/s, (v'g), = 0.375m/s
516 | (vp), = 6.933m/s, (vg), = 4.808 m/s
517 | (a) e = 0.774, (v,), = 4.573m/s | (b) A T = 7,864.23]
518 | v =17.107m/s
519 | o = 20
520 |v = v =7,712m/s, vp = 4,630.52m/s




(6% ¢
tHo =
61 | vap=vqa—vp=(—80i—80j) m/s
V,=wr=56m/s (3 Aol &%)
6.2
=8 +39.2°=40m/s* (F A9 7%5)
63 | Bxzo=z 70.1°, 2.41m/s
64 | vyp=(—3.18+4.14j)m/s
65 | (@) vg=13.1¢,m/s (b) vy = (—9.26{ — 9.26j) m/s
e |@ 0=3"dd, h=181m , AEJO|IE Ujof Fo] S0]@A] oh=Ch
' (b) =54 M, h=2.43m , AEO]IE Ulo]] Fo] S0]@A] =k
6.7 (@) t=1s (b) t=3s (c) O =4583.6°
v=(28m/s)e, (GALT £5)
6.8 ‘
a= (4m/s*)e,+ (980m/s” e, (7] 2 SHulgF 714E)
6.9 »=21.16 m/s
6.10 p=52.751 rad/s
wyp=5rad/s (B3 ABY] ZI&4%)
6.11
Vp=—25m/si +0.875m/sj (& P2l &%)
6.12 | wog = 6.65tad/s, oy =20.2rad/s
6.13 = L(cos60 ° )(—w)— L(cos60° )(w) =— Lo, a, =— 0.577 La*
614 | # =1.95rad/s
6.15 | w45 = 2.00Tad/s
616 o =3.111rad/s (7]0}9] Zk&E)
' o= 0.667 m/s (54 09] £%)
wpe=8.65rad/s (B BCQ ZI&%)
6.17
wyp=4.99rad/s (B ABY] Z}&%)
Uy . N
6.18 | vy = ——xsin30 =3.35m/s
sin60
Up
wy=w, = =1.67 (A AdxQ] 24w
AB rG'B
6.19
a
Q4= aup= = = 333577 (3ABY) BIPI4S)
rYe'B 3
w,p = 1.255rad/s (A9 Z}&k)
6.20

4 = 4.549m/s (A9 &%)




(7% &2
HS =hds
- (@) @ = 0.940m/s>
' (b) Ny, = 910.7N, Ny = 289.3N
) (a) d = 8.22m
' (b) Ny = 1190N, Ny = 1910N
73 (a) « = 0.981 m/s”
' (b) A= 371.43N, B= 628.57 N
_ 2
4 (@) @ = 2rad/s
(b) w = 76.4rpm
75 | w = 4.43rad/s
7.6 | a, = 259.3rad/s’, ay = 172.8rad/s’. a, = 57.6rad/s”
77 | 0= 376.73N
78 |a,=6567cm/s*! . ap=232.84cm/s* |
79 | M=5.17N - m, a = 38.3rad/s’
(@) a; = (2.747m/s*)j
7.10
(b) ay = (23.75m/s%);
701 | @ = 4.91rad/s’. O, =196.15N
712 | @ = 0.213 rad/s
iy | @ = 019m/s’ (2] Sl B A 1)
e =251m/s? (o] Y= AL A T1E)
7.4 | p = 149.64cm/s
7.15 | P= 1020.2N
(@) + = 0.05194 s
7.16 _ ,
(b) @ = 46.04 m/s
717 | a=0.3m/s’
LS 2.4525 rad/s® = 2.45 rad/s? (Qitjo] Zpag)
' N, = 33.3N (A9} Bo] yhi=)
719 V=0N (ZAoM ")
' M= 7219874 N (Z2ojx 2HIE)
720 | @ =10.42 rad/s’
o (a) a = 8.72m/s’
(b) x, = 0.444
722 | @ = 3rad/s’




81 | v=236m/s
g, | @) U=9.79x 10°N - m
(b) F = 3916N
83 |d =137.04m
84 | v=102.6m/s
85 | Umax = 9-8m
(@) v, = 7.67m/s (R 200429 F2] &= F7))
o6 (b) v, = 9.40 m/s (YIA] 20149] 3O} &% 7))
87 (@) U, = —10N - cm
(b) v = 3.62m/s
88 |s=4.32m
89 | v, = 2.41m/s
8.10 | p = 12.16m
81 (a) o = 14.3rad/s
(b) 17.54hp
812 | w = 1.91rad/s
8.13 | w=6.97rad/s
814 | A, =111.2N, 4, =125.9N
8.15 | W= 16.24N
616 (a) w;=11.13rad/s
(b) £#=201.84N/m
817 (@) Uy =26N * m
(b) v=2.94m/s
8.18 | S=0.29m
8.19 | w=4.49rad/s
820 | w=22.03rad/s
821 | s=18.02m
822 | wy = 147.19rad/s
823 | P=22.5TW




(9% B2
o =hd)
(a) w; = 1.65rad/s
91 | (b) @, =1.45rad/s ()4 YFat 2 YFoz Fugt 3 9Q)
w; =1.86rad/s (3A WUdo] vl Wigroz Hust 74Q)
92 |v=4.3m/s
93 |t=12.83s
94 | ®=40.03rad/sUAARLF
95 | (wy), = 29.44rad/s
96 | t=1.45s
97 |v,=9.07m/s (y+ 45 ¥
98 7AAF ol Wigkog 1.49m («'+)
99 |t=0.589s
910 | @ = 4.69rad/s
(a) w, = 0.768 rad/s U
o (b) F =5.76/0.0005 = 11.52 kN
912 | (a) 2.4rad/s  (b) 8420N  (c) 0.08m
913 | 6,= v,/491
914 | @’y =—1.98ras/s
9.15 | w =8.85rad/s
9.16 | h = 45.85 mm
917 | 6=72.75"
9.18 | (v), = 1.28m/s—
919 | 6 =48.3°
920 | v, =+1.76 m/s




